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1. Translate any
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2. Answer any one of the following :

frafefis @ @rar g3t Ssa W8 2
(a) Where does et reside and to what extent ?
PR (IR eI I F7
(b) What are the six sources of happiness for a worldly man ?
Ssifisss T = Jraw ST F 2
3.  Answer any one of the following questions :
fmfarfis gaETT @ @it 9Fioe T 1S 2
(a) “aa: 7@ gyfied g @ Rig fam:”
— What did the animals say to the lion ? What was the reply given by the lion ?
sreter Brex 5 aweifer? Breaf fo o ol 2
(b) “cafigamean ol FUR TR F SA
- Who was the Tam ? Which incident is indicated by ‘Famiiqaeas ?
@it o figet 7 g @ ToA10E IR 2
(c) “rerdh | TeTe ufd TonfaaeTasR: ok
Who is the speaker of this line and to whom it was said ? What does the word
‘ FeifeaeragR ' mean ?
@ I S A e 7 ' Eeitaaeaer ! G § @RIET T 72
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Fill in the blanks in the following verse with appropriate words :
oy i ey St arsafer JaT ol G
SFSRET faamefyr Rzadq |
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gaa wet: agel |
G rami _ Fadgan

5. (a) Derive any two of the following words : 1%2x2 =3

frferfs @ et g et Rl e
@) Tow

in Q. No. 1 (a)

5 ¢ (a) AT "
(i)  ST9Aq

in Q. No. 1 (a)

5 A2 (a) A0S T
(i) 3TF=q

in Q. No. 1 (b)

5 72 (b) &S Ay
(iv) fag=

in Q. No. 1 (c)
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(b) Decline any two of the following : 1x2 =2
frufeiis @ @rar gfoa st @
() ‘M in 4™ case-ending plural.
“M" s frefes TmeE |
(i) ‘TS in 3" case-ending singular.
A" Sent Tefea asasE |
(i) ‘"G’ in 1t case-ending plural.
“HIg" et fiefed I=3n |
(iv) g9’ in 6 case-ending dual.
‘e §8) fasfed faas |
(c) Conjugate any two of tﬁe following : 1x2 =2
o7 @ @A Gioa GrRgwT (@I
@) Nw(+eicf
(i) Va + o T
(ifi) Ve + T I
(iv) Vug+ g
(d) Frame adjectives from any two of the following : 1x2 =3
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-00o-

02-S1-B20-BN

Scanned with CamScanner



